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Komaruk . . The Hague Convention on the international recovery of child support and other 

forms of family maintenance: have we found a way to success? 
In this article the author researches the Hague Convention on the international recovery of child 

support and other forms of family maintenance and draws her attention to the main principles of the 
Convention as well as determines the prospects of possible ratification of the Convention by the Ukraine. 

Key words: Protection of Children, Co-Operation in Respect of Intercountry Adoption, Central 
Authorities, Co-Operation in Respect of Intercountry Adoption, the best interests of the child. 
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1.     V0 = 100   ,    
 t1 = 0 º .   ,  ,     
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 t2 = 20 º .  �  V      
?    ,     20 º   

  ,       0 º ?  �  
    = 0,0006 º  �1.      

5 . 
 

: 
V0 = 1 3 
t1 = 0 º  
t2 = 20 º  

 = 5  
 = 0,0006 º  �1 

 
V � ? 

1 � ? 
2 � ? 

� : 
�    V    

  : 
V = V0(1+ t)  (1) 
V = 1 (1+0,0006(20 � 0))[ 3 º  �1 º ] = 0,101 3 = 101  

    1   
   t1 

1 = V0 a   (2) 
    2   

   t2 
2 = V a   (3) 
  �  1    

1 = 100 5 = 500  

2 = 101 5 = 505  
: V = 101 ; 1 = 500 ; 2 = 505 . 

 
 
2.       = 180 .,   .  

    t = 8 º     Q = 6,32  .  

  = 3 950 ,   31000
.    

  ?     ? 
 

: 
t = 8 º  

 = 3 950  
Q = 6,32 106  

 = 180  

31000
 

 
 
V � ? 
a � ? 

� : 
 ,     t = 8 º ,  
     Q: 

Q = cm t    (1) 
  (1)   m: 

tc
Q

   (2) 
      � : 

m = V   (3) 
  (3)  (2): 

tc
QV

   (4) 
  (4)  �  V: 
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tc
QV

   (5) 

V 2002,0
839501000

1032,6 3

3

6

 
     : 

 = V   (6) 
  (6)    1   : 

V
a

 (7) 

a 9,0
200
180

; 
 

: V = 200 ;   = 0,9 . 
 
3.   m1 = 3    t  = 70      

,        t1 = 30 º   t2 = 170 º .   
 ?      ,  1    

 = 7 .?    2 = 380 ,   1 = 850 . 
 

: 
1 = 3  

1 = 850  

2 = 380  
t  = 70  

t1 = 30 º  
t2 = 170 º  

 = 7 /  
 

2 � ? 
 � ? 

� : 
    1   t  

  : 
Q1 = c1 m1 t   (1) 

    2      
,     : 

Q2 = c2 m2 (t2 � t1)  (2) 
Q1 = Q2    (3) 
c1 m1 t  = c2 m2 (t2 � t1)   (3) 

     : 

122

11
2 ttc

tmc
m

   (4) 

m 4,3
300170380

703850
2

 
     : 

 = 2   (5) 
:  �  1    ,  �   

. 
 = 7 3,4 = 23,8 . 

: 2 = 3,4 ;  = 23,8 . 
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4.   ,   2 = 0,4 ,  .    
   ,    t1 = 5 º ,    

 t2 = 25 º ,       Q = 105,47  . 
    ?      ,   

    = 6 .?   3
31079,0 ,   

 1 = 2 500 ,    2 = 840 . 
 

: 
t1 = 5 º  
t2 = 25 º  

2 = 0,4  
Q = 105,47  

3
31079,0

1 = 2 500  

2 = 840  

 = 6  
 
V � ? 

 � ? 

� : 
 ,      

t1  t2,       Q. 
Q = Q1 + Q2   (1) 

: Q1 �     , 
Q2 �     . 
Q1 = 1 1(t2 � t1)   (2) 
Q2 = 2 2(t2 � t1)   (3) 

  (2)  (3)  (1): 
Q = 1 1(t2 � t1) + 2 2(t2 � t1)   (4) 

      � ,  
: 

1 = V     (5) 
  (5)  (4): 

Q = 1 V(t2 � t1) + 2 2(t2 � t1)   (6) 
  (6)  �   V  : 

121

1222

ttc
ttmcQV

    (7) 

V

5,2105,2

202500790
204,0840470105

33

3

 
:  �      . 

155,26
 

: V = 2,5 ;  = 15 . 
 
5.      .   1 = 200  

 ,    t1 = 80 º ,   ,   
 t2 = 10 º ?      ,    

    = 7 .? ,     
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  t = 30 º ,    3919
,  

    = 1 800 . 
 

: 
t1 = 80 º  
t2 = 10 º  
t = 30 º  

1 = 200  

 = 1 800  

 = 7  

3919
 

 
2 � ? 
 � ? 

� : 
    ,   

 t1,    t    
 Q1: 

Q1 = 1(t1 � t)   (1) 
 ,    t2,   

 t     Q2: 
Q2 = 2(t � t2)   (2) 

   : 
Q2 = Q1   (3) 

  (1)  (2)  (3): 
2(t � t2) = 1(t1 � t)    (4) 

  (4)     2  
  t2: 

2

11
2 tt

ttmm
      (5) 

m 5,0
1030

30802,0
2

 
�    V   

  ,  : 

21 mmV
    (6) 

V 76,000076,0
919

5,02,0 3

3
 

       : 
 = V   (7) 
:  �       . 

32,576,07
 

: 2 = 0,5 ;  = 5,32 . 
 
6.      20 . ,  1 3   
 .      ,     

1 = 100     t1 = 80 º ,     t2 = 30 º ?  

 
31000

. 
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: 
 = 0,2  

t1 = 80 º  
t2 = 10 º  

1 = 100  

 = 1 
3

 

31000
 

 
t � ? 

� : 
�  ,    ,  

      �  1 3   
. 

V
         (1) 

V 2002,0
1
2,0 3

3
 

      � ,  
: 

Vm    (2) 
:  �   ,      1 

  t1 i m2   t2. 
 = 1 + 2   (3) 

  (3)  (2): 
1 + 2 = V   (4) 
  (4)  2,    t2: 

m2 = V � m1    (5) 

m 1001002,01000 32
 

   ,    t1, 
   t      
 Q1. 

Q1 = 1(t1 � t)   (6) 
,    t2,     

 t     Q2: 
Q2 = 2(t � t2)   (7) 

   : 
Q1 = Q2    (8) 

  (6)  (7)  (8): 
1(t1 � t) = 2(t � t2)     (9) 

 (9)   t    
: 

21

2211

mm
tmtmt

   (10) 

t 55
100100

3010080100

 
: t = 55 º . 
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7.            , 
     .     , 

 �  V  = 40  ,     t1 = 15 º ?  

   q = 44 106 ,    

 = 4 200 ,   
3700

,   
31000

.  
   ,      2,5 .? 

 
: 

q = 44 106  

 = 4 200  
t1 = 15 º  
t2 = 100 º  
V  = 40  

3700
 

31000
 

 = 2,5  
 
V  � ? 

 � ? 

� : 
      Q1: 

Q1 = q m1    (1) 
 ,       t2,  
    Q2: 

Q2 = 2(t2 � t1)   (2) 
    : 

Q1 = Q2    (3) 
  (1)  (2)  (3) 

q m1 = 2(t2 � t1)   (4) 
     � ,   

m2 = V    (5) 
: 2 �  : 

m1 = V    (6) 
: 1 �  . 

  (5)  (6)  (4) 
q V  = V (t2 � t1)      (7) 

  (7)  �   V : 

q
ttV

V 12

    (8) 

33

3

3
3

6

3

1046,0

7001044
85104010004200V

 
V  = 0,46  

      
: 

 = V       (9) 
:  �      . 

 = 2,5 0,46 = 1,15 . 
: V  = 0,46 ;  = 1,15 . 

 
8.        t2 = 75 º , 
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    Q = 11,232  .      
  ,      

t1 = 15 º ?    ,  1 = 100  ,  
?     ,     

 3 . 50 .?     = 2,34 103 . 
 

: 
 

 
V � ? 

 � ? 

� : 
 ,    t1   t2,  
     Q: 

Q = m c (t2 � t1)    (1) 
  (1)   : 

12 ttc
Qm

    (2) 

m 80
15751034,2

10223,11
3

6

 
     

        
  1: 

1m
mX

   (3) 

)(800
1,0

80X
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:  �      . 

28005,3800  
:  = 80 ;  = 800 . ;  = 2 800 . 
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Baranovskiy  V. M., Galich G. A., Grischenko  C. M. Some aspects of economic education of 

schoolboys are at untiing of tasks from molecular physics 
Some aspects of economic education of schoolboys are examined in the article, physical tasks are 

analysed  with economic sense. 
Key words: economic education, educational establishment, physical tasks with economic�s sense. 
 


